Tea Light Inspired Earrings _ (used #30 thread) Barbara

Put jump ring on left shuttle. Wind CTM about 2 yds on each shuttle.

**Viideo showing how to put a bead in the center of a ring using a
SCMR. Terrific I! http://www.youtube.com/watch ?v=EdAiMBmhPXk

SCMR: (use enough ds to go half way around bead being used)

CH 9, slip bead onto loop on the bottom. Place a paperclip on left
hand side in front of the bead. Slip shuttle through the loop and close
the SCMR.

Place jump ring from the left shuttle in place.
CH 9 then join to space left by the paperclip.
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